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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+ABFENHEHIEEE = FiA -6.39|/kWh
(1) BA¥ & R Bl = (FYPAEMEHE —86,100M) x ZL#EBi{fi—1,000 = -6.39]F/kWh
202551 B ~20255E3 A FHD B S FHmE
A: 1KkIBH =Y DR R 76,168 M o: 0.0048 HAEE 0.183 M
B: 1tdh=YDTEHLNGIEE 95,616 M B: 0.3827
C: tHI-YDTEHRRME 21,690 M Y 0.6584
EHREMER = Axa +Bx S8 + VX 7y = 51,200 H (100 KEEERAN)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.0000
C: 1tHI-YDTEHRRXRME 21,690 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIHE . IEHFAREME=(A—C)XDXx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 13.22 MADIV7ZISAREYIE 11.19
B: EJTIAEREEEM (Fiik) 7.00 BxE 6.9%
C: BMHEEAEE M (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.00|F9/kWh
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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+ABFENHEHIEEE = FiA 2.63|M/kWh
(1) BA¥ & R Bl = (CEPAEMEHE —45,900) x ZL#EBi{fi—1,000 = 2.63|M/kWh
202551 B ~20255E3 A FHD B S FHmE
A: 1KkIBH =Y DR R 76,168 M o: 0.0275 HAEE 0.233 M
B: 1tdh=YDTEHLNGIEE 95,616 M B: 0.4792
C: tHI-YDTEHRRME 21,690 M Y 0.4275
EHREMER = Axa +Bx S8 +VXxy = 57200 H (100 KEEERAN)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.0000
C: 1tHI-YDTEHRRXRME 21,690 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HNENFAEREM=A<BDEE. HEHFAREM=(A—B)XxDx(1+H&FZHK) 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 10.05 MADIV7ZISAREYIE 8.49
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.1%
C: BMHEEAEE M (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.00|F9/kWh
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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+AORENHERIELE= B D 15kWhET A 56.68 A
LS A 3.78 F/kWh
(1) BR¥ &R E M = (CEY BRI —27,100M) x ZL#EE{fi 1,000 = BHYD15kWhET 56.68| M
202551 B ~20255E3 A FHD B S sHmE Lot 3.78| M /kWh
A: 1KkIBHT=Y DR R 76,168 M a 0.0140
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.3483 ~15kWhEL#E B iy 2475 A
C: tHI-YDTEHRRME 21,690 M Y- 0.7227 16kWh ~ EL £ B {fff 0.165 [
EHREMER = Axa +Bx S8 + VX ¥y = 50,000 H (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 95,616 M 0.0000
C: 1tHI-YDTEHRRME 21,690 M e 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 9.38 MADIN7ZISAREYIE 7.86
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.8%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 0.00|F9/kWh
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